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Introduction

This Familiarization Guide is designed to provide prospective examinees with
information about the Russian Defense Language Proficiency Test 5 (DLPT5) in
multiple-choice format. This guide contains general information about the test design,
the format of the test, its length, its content, the skills tested, and procedures used in
scoring and reporting the scores. In addition, screen shots on what the examinees will
see when taking the test on the computer as well as information on testing procedures
are provided.

Overview of the DLPT5

The DLPT5 is designed to assess the global language proficiency in reading and
listening of native speakers of English who have learned a foreign language as a second
language and speakers of other languages with very strong English skills. The DLPT5
tests measure proficiency as defined by the Interagency Language Roundtable (ILR)
Skill Level Descriptions, levels 0+ - 4 (see Appendix A). All DLPT5s will be delivered
on the computer.

DLPT5s in many languages include both a Lower-Range test and an Upper-Range test.
The Lower-Range test measures ILR proficiency levels 0+ - 3, while the Upper-Range
measures ILR proficiency levels 3 - 4. Examinees will normally take the lower-range
DLPT5; those who receive a score of 3 on this test may be eligible to take the upper-
range test, depending on the policy of their institution. The DLPT5 will be used to
make operational readiness, incentive pay, and training decisions for civilian and
military language analysts in the United States government.

Description of the Russian DLPT5

Lower-Range Test

e Test Design
0 The Lower-Range Reading Test contains approximately 60 questions with
about 36 authentic passages. Each passage has up to 4 questions with four
answer choices per question.



0 The Lower-Range Listening Test contains approximately 60 questions
with about 40 authentic passages. Each passage has up to 2 questions
with four answer choices per question. In the test, passages at the
beginning will be played once. After a certain point in the test, examinees
will hear the passages twice before having to answer the questions.

0 For research purposes, some questions are not scored. These questions do
not count toward the final score the examinee receives. Examinees will
not be told which questions are not scored.

o Examinees have 3 hours to complete the Reading Test and 3 hours to
complete the Listening test. Approximately halfway through each test,
examinees will be given a 15-minute break. The break does not count
toward the test time. For the Listening Test, although the playing of the
passages is controlled by the computer, examinees may take as much or as
little time as they wish to answer the questions. Managing the time
effectively is the examinee’s responsibility, just as it is on the reading test.

e Test Content
0 The Russian DLPT5 is designed to measure proficiency in Russian
regardless of how it has been acquired. For this reason, and because of the
broad proficiency orientation of the test, its content is not tied to any
particular language-training program.

0 The passages included in the test are sampled from authentic materials
and real-life sources such as signs, newspapers, radio and television
broadcasts, the Internet, etc.

0 The passages cover a broad range of content areas, including social,
cultural, political, economic, geographic, scientific, and military topics.

e Test Format: The test includes instructions on how to take the test, examples on
how to answer the questions, and question sets containing the following parts:

0 Orientation: This is a short statement in English that appears before each
passage. Its purpose is to identify the context from which the passage is
taken.

0 Passage: This is the only element of the test that is in Russian. The
maximum length of a listening comprehension passage in the test is
approximately 2 minutes. @ The maximum length of a reading



comprehension passage is approximately 400 words. Most of the passages
are much shorter than the maximum length.

Question statement: Each individual question is based on the passage, is
written in English, and is posed in the form of a complete question or an
incomplete statement. The questions may ask about what is explicitly
stated in the passage or, in some cases, what is implied in it. Occasionally,
questions may ask about expressions that are used in the passage. The
number of questions based on the passage is related to the length and
complexity of the passage.

Answer choices: Each question statement is followed by 4 answer choices,
also written in English, only one of which is the best answer. Each answer
choice is displayed on the screen with a button next to it that examinees
will click to select that choice. Examinees can change their selection by
clicking on a different button.

Upper-Range Test

Test Design
0 The Upper-Range Reading Test contains approximately 36 questions with

about 14 authentic passages. Each passage has up to 5 questions with four
answer choices per question.

The Upper-Range Listening Test contains approximately 36 questions
with about 14 authentic passages. Each passage has up to 3 questions and
four answer choices per question. All passages will be played twice.

For research purposes, some questions are not scored. These questions do
not count toward the final score the examinee receives. Examinees will
not be told which questions are not scored.

Examinees have 3 hours to complete the Reading Test and 3 hours to
complete the Listening test. Approximately halfway through each test,
examinees will be given a 15-minute break. The break does not count
toward the test time. For the Listening Test, although the playing of the
passages is controlled by the computer, examinees may take as much or as
little time as they wish to answer the questions. Managing the time
effectively is the examinee’s responsibility, just as it is on the reading test.

Test Content



0 The test is designed to measure proficiency in Russian regardless of how it
has been acquired. For this reason, and because of the broad proficiency
orientation of the test, its content is not tied to any particular language-
training program.

0 The passages included in the test are sampled from authentic materials
and real-life sources such as signs, publications, radio and television
broadcasts, the Internet, etc.

0 The passages cover a broad range of content areas, including social,
cultural, political, economic, geographic, scientific, and military topics.

e Test Format: The test includes instructions on how to take the test, examples on
how to answer the questions, and question sets containing the following parts:

0 Orientation: This is a short statement in English that appears before each
passage. Its purpose is to identify the context from which the passage is
taken.

0 Passage: This is the only element of the test that is in Russian. The
maximum length of a listening comprehension passage in the test is
approximately 2 minutes and 40 seconds. The maximum length of a
reading comprehension passage is approximately 500 words.

0 Question statement: Each individual question is based on the passage, is
written in English, and is posed in the form of a complete question or an
incomplete statement. The questions may ask about what is explicitly
stated in the passage or, in some cases, what is implied in it. Occasionally,
questions may ask about expressions that are used in the passage. The
number of questions based on the passage is related to the length and
complexity of the passage.

0 Answer choices: Each question statement is followed by 4 answer choices,
also written in English, only one of which is the best answer. Each answer
choice is displayed on the screen with a button next to it that examinees
will click to select that choice. Examinees can change their selection by
clicking on a different button.

Because test security and confidentiality are extremely important, examinees should not
discuss test content with anyone.



Scoring

Examinee scores are reported in terms of ILR levels, including “plus” ratings. Lower-
Range tests are intended to cover ILR levels 0+ through 3. Possible scores are 0, 0+, 1,
1+, 2, 24, and 3. Upper-Range tests are intended to cover ILR levels 3 through 4.
Possible scores are 3, 3+, and 4. Separate scores are reported for reading and listening,.

Scores on either type of test reflect current functional language proficiency in reading
and listening as defined in the ILR Skill Level Descriptions (see Appendix A). Scores do
not reflect proficiency in speaking or writing, nor do they reflect examinees” job-related
performance or ability to perform specific language-related tasks under special
circumstance (e.g., reading or listening to a target language passage indefinitely many
times with the aid of supplemental reference materials and information sources).

Scores on the test are based on the number of questions answered correctly. Since there
is no penalty for incorrect answers, it is to the examinee’s advantage to attempt to
answer every question, even if it involves guessing.

Preparation for Taking the Russian DLPT5

The purpose of this publication is to familiarize prospective examinees with the DLPT5
multiple-choice format and general testing procedures. Other than carefully reading
this guide so that the test instructions and format are familiar, there is very little to be
gained from “studying” for the test. The best preparation for the DLPT5 is the
acquisition of a solid base of general proficiency in the target language, both through
formal training, and language exposure and use in a variety of real-life language-use
settings. Examinees should know that study aids (i.e., dictionaries, reference books,
etc.) are not permitted for this test. Note-taking is not permitted for the Lower-Range
test but is allowed for the Upper-Range test.

Instructions for taking the Russian DLPT5

The purpose of this section is to familiarize prospective examinees with how to take the
computer-based Russian DLPT5 multiple-choice Reading and Listening tests. Test
procedures and instructions for both the Reading and Listening tests are provided.

Test Procedures

This section is to help prospective examinees become familiar with the test procedures
of the Russian DLPT 5 multiple-choice Reading and Listening tests. First, there will be a



short description of what the examinees see before the actual test begins. Then screen
shots of what examinees will see on the computer screen will be provided.



At the beginning of the test session, the examinee logs on to the system using a
Common Access Card (CAC) or a user ID and password that were provided when the
examinee registered to take the test. The examinee must click on the [CAC Logon] or
[Submit] button before moving to the next screen.

Riformation aud Techuofogy for Better Decision Making

[OMDC|

g

{.:" DLPT Testing
==

Candidate Logon

The Test Administrator has sucessfully logged in.
ser IO

CAC Logon




The next screen provides a list of tests for which the examinee is eligible; the examinee
selects the appropriate test from the list.

leformation and Technology for Bettor Decision Making

[DMDC|

s

{.:" DLPT Testing
==

Urdu Reading

Take Test

Urdu Listening

Take Test




Once the test has been selected, a series of introductory screens appears. These screens
contain the Privacy Act Statement, the Disclaimer for Defense language Institute Tests,
the Test Administration Statement (of the examinee’s ability to take the test at that
time), and the Non-Disclosure Statement. The examinee must click on the indicated
checkboxes under the Disclaimer and the Non-Disclosure Statement before moving to
the next screen.

DLPT 5 Listening Comprehension Test for Russian Form A

Defense Language Proficiency Test 5 Please DO NOT START until told to do so.
Multiple Choice Format

If you have difficulty with the instructions or any
functions of this test, please raise your hand and the
Test Administrator will assist you.

FOR OFFICIAL USE ONLY

Controlled Item (Test Material)

Russian

Language Code RU

Mot to be shown to unauthorized persons

LiStEI'IiI'Ig Comprehension Mot to be reproduced without authority granted by the Commmandant
Defense Language Institute Foreign Language Center
Form A
To begin the test, click the Begin button below,
Help Introduction: Screen 1 of 7
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DLPT 5 Listening Comprehension Test for Dari Form A

Privacy Act Statement:

Disclosure of requested information is solicited under the
authority of Title 10, United States Code 3012, Executive
Order 9397 and Army Regulation 600-2 and is mandatory.
Social Security Number is used as the personal identifier
number of all personnel under control of the Department of
Defense, and is used in connection with updating
information in official records and training files. Use of
Social Security Number provides for objective scoring of
Defense Language Institute tests, as the student's Social
Security Number is the only identifier so as to maintain
confidentiality when reporting test scores to students.
Failure to provide Social Security Number may result in
misidentification and non-credit for tests, and,/or
inadequate counseling and guidance,

Introduction: Screen 2 of 7

Disclaimer for Defense Language Institute Tests:

Materials for this test come from authentic sources within
the target culture. These sources often include
conversations or written material of a controversial nature,
which are essential for understanding world events, As a
result, there may be topics, ideas, and language in the
areas of politics, international relations, mores, etc. that
may be considered contentious. The presence of
controversial statements on a test should not be construed
as representing the opinions of the test development team,
the Defense Language Institute Foreign Language Center,
or the Department of the Army.

7 I confirm having read and understood both the
Privacy Act Statement and the Disclaimer.

Click on the checkbox above to confirm.

12



DLPT 5 Listening Comprehension Test for Dari Form A

Test Administration Statement:

I understand that I am not required to take the Dari
Listening Comprehension Test at this time if there are
extenuating circumstances, such as fatigue, illness,
emotional distress, family or financial problems, etc.,
which may interfere with my performance on the test; and
that the test will be administered at another time
acceptable to me, the Test Administrator, and my unit
commander,

Help Introduction: Screen 3 of 7

Non-Disclosure Statement:

I understand that this test is FOR OFFICIAL USE OMLY and
the unauthorized discussion, disclosure or possession of
any part of this test is a violation of Article 92, Uniform
Code of Military Justice, and will result in appropriate
administrative action to fix responsibility for such
unauthorized behavior with criminal sanctions of up to two
years hard labor and dishonorable discharge for those
involved. Such unauthorized discussion or disclosure refers
to RELATING ANY ASPECT OF THIS TEST TO ANYONE,
including an instructor, fellow service member, spouse, or
class member.

I I confirm having read and understood both the
Test Administration and the Non-Disclosure
Statements.

Click on the checkbox above to confirm.

13




The next few screens contain examples of the screen layout for examinees to familiarize
themselves with the features of the test, instructions for taking the test and a sample test
passage. The text and questions in these screens appear smaller than the text and
questions on the actual test passages.

Reading comprehension test

Example of screen layout for the reading comprehension test: The example text represents a
generic foreign language; it is not meant to be legible. Explanations of the parts of the screen are
provided.

DLPT § Lower Range Reading Comprehension Test for Russian Form A

Example of Screen Layout

Familiarize yourself with the features of this screen now.

ORIENTATION STATEMENT DLPT 5 Multiple Cholce Test for Reading Comprehension Lenguage X Formx Sectioniof 3 TITLE BAR
+explains source of From 3 magarie article A e s i e s st b scnrc? B ndd:alesl the test title
passage in English. 11 wx — i : 2 and section.
x:(;:‘( xxw !Y;xx x‘l’ x:‘(x‘(;:: x I Theey dee b iwafir plingirs b Dhee gpineir e il s Bor.
XXXYYYYYYYYY XYYYYYXXXK XYVYYX (G smwprimry e howes,
FOREIGN LANGUAGE PASSAGE XY XX 000N XYV X0V VXY, 1 Thiny Hness s sigpific anbly canlionns in e Last firm years.
W I Theey hase [seen & fasocite tanget of politichans. QLES.[IDNS
Paragraphs are macked R 52 yyy syyyyxy XYY YXOYYX YXYX ' * To choose an answier,
1,12, ete 2. What s the author*s parponse in dioussing this ket
OO YO OO YOOI S et o e click the button next
. YK XYEY VXYY XYY XYYX N e b :
* 1f a question asks about N VXYY XYY XYYY Y o oy Urailors in e Higher ochebon of e iy, to that choice,
a spedific word or phrase
e e in - X0 00X RO XY | e ot e
the text, ‘ € Tecritidos tose not paying sttenSon. + To change an answer,
VXYY HA XYXYXY XV WYY 2. thy sk e supresain XY XYXYXXY XYYX YXYYX » click the button next
XY XVXYVXYRYE XYYXVX XYY i to a different choice,
eisiy 2 XXV, XVXYXY XYY XYY SN CLC 0N WY R CRLED AT,
by KWWY XY R YEYXYX XKy * i i gt ance of B Corriagptien.

XYAX.

g ths il dhoers..

D0 00

* A red line indicates the st the hivsorical roots of the s,

end of the passage. End of this passage

Mark this passage for later consideration, + A red line indicates the
End of questions (o1 this passage end of the questions

* To see the entire passage
you may need to scroll.

Passage 2 of 5 3questions Testendsin: 37:39 . NAYIGATION BUTTONS

STATUS BAR
| Go to:
Passage & & ol Questions Time remaining Previows  Mext

Total # of Passages Tor this passage Passage Passage

m Introduction: Sereen S of 6
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Instructions screen for the reading comprehension test:

DLPTS Lewer Ranpge Reading Comprehenslen Test for Russlan

IMETRUCTIONS

Read the short statemant befare 2ach passage that kells you whare the passage came fram.

Faad the passags and the guasticn ar quastions zarafully, $ocme quastiens may be in tha form ef an
incomplste stabemant.

Eated an what you have read 0 the passags, chease cthe bt answar b 2ach questien fram ameng the
four answer cheleas. The answer te 2ach quesdon may be starad ovardy In die passage or only Inplled.

Clizk am the button ne st b the answer you have chosen. You may change your answer by clicking en a
differant bubbon.

Clizk am the [Maxt] butten ot tha bettom rinht af the sereen ta ga ta the nest passaos.

Thara iz no panaky for qguezsing: tharafore. it iz ko your adrantsga ta ansvier all of tha questions.

A sample passage follows an the next screaen.

K you nesd help during the test, click on the [Help] button.

Introduction: Sereen 6 af G

15



The next screen contains one sample passage with its associated question or questions.

Example of a reading sample passage:

DLPT 5 Lower Range Reading Comprehension Test for Russian Form A

Sample Passage

An excerpt from a letter to the editor of a newspaper S1. What is the writer concerned about?

H, KAK I MHOTII® MOCEBITYIL ICNEITEIE A 00E LIOLE r— Findin§ gﬂcd ﬂmpl'ﬂyﬁﬁs nﬁwadavs in MGSCOW.
TPYIHOC TH B MocdegHee pena. B cTomme Hemerko .
("' The cutthroat competition among university students.

VETPONTE CA M0 ¢MelIAMBHOE T, 0¢00eHHO ICReHepY, IT0
B8 COTI0EY, Y0 MECKEIFTES M YIS ANt KANSeE ro (" The declining quality of teaching at many universities.

BRIIYCKAKT TRICAYN CIISLIIATIIC TOR, [ KAKIbINT 1T HIIX X04eT (" Securing employment in his field in Moscow.

ocTarbeA B Mockpe, KoHKYpeHIDLA 0MeHE BBICOKAA, 11

HHOTDA HY AHBI MeCAIBL, ‘IT“GH HAIITIT pAavoTy. End of questians for Sample Passage

End of this pascage
Miak (les passage tor later consideration. [

| Help | Sample Passage 1 question << Back Next >>

16



After the sample passage, the examinee clicks on the [Next] button and moves to the
test start screen.

Test Start Screen for the Reading Test

DLPTS Lower Range Reading Comprehension Test for Language X Form A

End-of-Test Review Information

After the last passage, if there is still time on the clock, you
will have the opportunity to review your answers before
submitting the test.

From the review page you will be able to jump to any given
passage.

You will be able to change any answer or respond to any
questions you have not answered.

Detailed instructions for this review will be given at the end
of the test.

End of Instructions

17

Test ends in:

Start of Test

This reading test section contains:

43 passages and

61 questions.

You are allowed 3 hours to complete the test.

There will be a break after 90 minutes. The break does not
count against your time.

When you are ready, click the [Start Test] button below.

The screen will move to Passage 1 and the clock will begin.

180:00 minutes Start Test




DLPTS Multiple Choice Test for Listening Comprehension

Listening comprehension test
Example of screen layout for the listening comprehension test:

DLPT S Lower Range Listening Comprehension Test for LanguageX Form A

Example of Screen Layout

Familiarize yourself with the features of this screen now.

Passage A5
This passage is takan from a news broadeast.

Language X Formx

1. What does the author claim about his sources?

(& They are a major players in the governmental sector.
" They are primary political figures,
[ They have been significantly cautious in the last few years.

IT They have been a favorite target of politicians.,

2, what is the author's purpase in discussing this issue?
(" To highlight the corruption of the current system,
(" Toexpose traitars in the bigher echelons of the miitary.

™ Tocontribute to public awarensss.

TITLE BAR
+ indicates the test title and form

DRIENTATION STATEMENT
+ explains source of passage in English.

QUESTIONS

+ To choose an answer, click the button next
to that choice.

+ To change your anwer, click the button
next to a different choice.

+ A red line indicates the end of the questions.

(™ To criticlze those not paying attention.

+ To see all the questions, you may need to
scroll.

End of thiz passage.

Mark this passage for lster considerstion (|

STATUS BAR shows:

+ Current passage number

+ Total number of passages

+ Number of questions for current passage
+ Timer Status

Passage 5 of 40 2 questions Test ends in: 178:02 + Play Audio Button

Play Audio

# of Questions
for this | q

Passage #
Total # of P

To hear the audio for a
passage, click this button.

Time Remaining

Introduction: Screen b of 7

18



The next two screens contain instructions for the listening comprehension test. Note that
examinees may select their answers to the questions while the audio is playing.

_| DLPT 5 Lower Range Listening Comprehension Test for Languagex FormA

Test Sequence The Clock

When a passage screen opens, you will see its passage + The amount of time allotted for this test is 180 minutes
number, orientation statement, and the question or ( 3 hours).
questions with their answer choices.

+ There is a break in the middle of the test. It does not
At the bottom of the screen is a [Play Audio] button. count against your time.
When you click it, the audio will begin. The phrase

"Audio Playing’ will be displayed in the status bar. o Itis your responsibility to keep track of where you are

in the test, and how much time is remaining.
You may answer questions at any time during the
playing of the audio.

You may not move to the next passage until the audio BEROREYOURROCEED, adjust yaur volume:

finishes playing. When the audio finishes, the [Next] o
button appears at the bottom of the screen. Click it 4”5 SWmE

when you are ready to move on to the next passage, .

You will not be able to go back to previous passages Click the [Test Volume] button to hear a short audio file.
until the end of the test.

The [Help] button appears at the end of the audio
playing for each passage. If you need help concerning
a passage, click the [Help] button before moving to the
next passage.

Introduction: Screen 6 of 7
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DLPTE Lawer Ranpe Listening Gomprehension Test for Chinese Mandarin

ATTENTICH: You should hear a volee reading the Instructlons balow.

IFtha audla 12 rar elaar ar laud snoeugb, ealss yaur hand faw be alerr tha Tate Gdrilnlstracar

UWHen 3 passage stresn opens. yau Wil sse 3 shott staternent In English thae explalne the concest frem whish the passage
was taken. and belawr that. the questlon or questlons assoclace d widhdie pascage.

When geu are ready ta hear the passage, slick on the [Play Sudie] buttan lecated atthe bottam right comer afthe sersen.

‘fau will tham hear tha shert stotemant in English fellowed by the passags, Passages atthe beginning of the test will be
playad anly ance. &ftar 2 certain paint in the task, passapes will be played brica. Yau will ba told when you reach that
peint. Thars Wil b & thert ears lgnal bersear the tara playings.

Wau de nat bave ca wak undl the passage has finlskhad playing te begln answerlng die quasdons. After headng the
passags youwlll be remlnded to answer die questlon ar questlons. Fead 2ach questlan and ks answer chelees carefully,
Same guestions may ba imthe Ferm of anincomplete skakement.

Eased on what yau hava heard inthe passage. choase the best answar te aoch question fram ameng the Faur answer
choicas. The anzwer be aach question may be stoted avartly in the passage ar only impliad.

ClleE on the Buttol neo B e ARSWER Yol have chaseh. Vau may change yeur answ=r by ¢llsking on 3 differene butten.
Cllek sn tha [Meot] bumear aeths battens Fphe of thes seraet to go 1o the KRaYE pASSSJE.

There Is ne penalty far guessing, s 1 1< 1o wour advancage co answer all of the questlens.

A zample passadge follews on the next scresn.
I you nesd help during the test, click on the Help] button.

Inreduetian; Sereen T of 7 Audia Playing

20



Example of listening sample questions (the sample passage audio is played while the screen is
displayed):

DLPT 5 Lower Range Listening Comprehension Test for LanguageX FormA

Sample Passage 51

This passage is a public announcement.

1. What is one thing said about the event?

¢~ Itis open to the general public.
™ It will have a tourism exhibit.
{0 It will offer a variety of goods at low prices.

{™ Itfeatures a variety of food stands.

End of questions for Sample Passage

Mark thiz passage for later considerstion. O

Sample Passage 1 question

21



After the sample passage, the examinee clicks on the [Next] button and moves to the
test start screen.

DLPT 5 Lower Range Listening Comprehension Test for LanguageX FormA

End-of-Test Review Information

At the end of the test, if there is still time on the clock.
you will have the opportunity to review your answers
before submitting the test.

From the review page you will be able to jump to any
given passage.

You will be able to respond to any questions you have
not answered, or change an answer.

You will not hear the audio again during this review
period.

Detailed instructions for this review will be given at the
end of the test.

Help

End of Instructions Test ends in 180:00

22

Start of Test

This listening test contains 40 passages and 61 questions.
The test is 180 minutes (3 hours) long.

There will be a 15 minute break after Passage 22. The break
does not count against the total time allowed for the test.

When you are ready, click the [Start Test] button below.

The screen will move to Passage 1 and the c¢lock will begin.

| Back [N start Test



End-of-Test Review Information

At the end of each test, a review screen appears for examinees to review their responses
to the questions before submitting the test.

From the review page, examinees will be able to jump to any given passage.

They will be able to respond to any questions they have not answered, or they can
change an answer.

The audio for the Listening Test will not be played again during this review period.

Example of the review screen:

DLPT 5 Lower Range Reading Comprehension Test for Russian Form A

End of Reading Test

Inthe chart below, an asterisk (*) in the Answer column means that you have answered a question.

If you see the word Q[T it means that ne answer has been registered for this question.

If you see an X nextto a passage number, it means that you marked that passage for further consideration as
you were taking the tast.

To reviewlchange any answer, ¢lick the row below which corresponds to the question number.

Passage 0O # Answer Passage 0% Answer Passage 07 Answer Passage O F Answer
1 1 * 17 17 29 33 ki 18 *
18 18 30 34 4% *
19 19 i 35 39 50
20 36 2
20 21 37 40 52
21 22 iz i8 53
22 23 34 54
23 24 i3 10 55
9 ‘ 24 25 34 # . 56
10 26 35 a2 57
" : 25 27 43 58
12 28 36 H 5%
13 26 29 45 : G0
14 ) 2 30 3 46 61
15 28 ] ar
16 32

+« When you are satisfied and are ready to submit your test, click the [Submit] button below.

Review Answers Test ends in: 176:56

23



Russian DLPT5 Reading Comprehension Sample Passages

Level 1+
An excerpt from a letter to the editor of a newspaper

H, KaK 1 MHOI'I€ MOCKBHYH, HUCIIBIThIBAIO OoJIpIINeE TPYAHOCTH B IMOCJIICIHCC BPEMAI. B
CTOJIMIIE HEJIETKO YCTPOUTHCS IO CIIEHUATBHOCTH, OCOOEHHO UHXKEHEPY. DTO BCE MOTOMY, YTO
HHCTUTYTBI 1 YHUBCPCUTCTELI Ka)KI[BIfI roa BbITYCKAIOT ThICAYH CIICHHUATIUCTOB U Ka)K)II:Iﬁ N3 HUX
Xo4eT octaTbess B MockBe. KOHKypeHIUS: OYeHb BBICOKAs, U MHOTIA HYKHBI MECSIIbI, YTOOBI
HaWTH padoTy.

Question 1
1. Whatis the writer concerned about?

(A) Finding good employees nowadays in Moscow.

(B) The cutthroat competition among university students.
(C) The declining quality of teaching at many universities.
(D) Securing employment in his field in Moscow.

The best answer is (D).

The writer says that thousands of specialists graduate every year and want to live in Moscow,
and so it takes months to find a job. Hence, “D” is the best answer. “A” is not the best answer
because the writer is looking for a job, not trying to hire someone. “B” is not the best answer
because the writer complains about competition among graduates, not students. “C” is not the
best answer because nothing is said about the quality of teaching.
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Level 2

From a newspaper

Bo03MOKHOCTE HOCETUTH KHHOTCATpP, HC BbIXOAA U3 CBOUX aBTOMOGHHeﬁ, MOJIyUHJIN B
KOHIIE NPOIIION HEJIeIM MOCKBHYH. B CTONMIIE OTKPBUICS NEPBBINA B HAIEH CTpaHe
KMHOTEATp MOJ OTKPHITHIM HEOOM JIJIs1 aBTOJIIOOUTENEH, MOTyYHBIINN HA3BaHHE
«l"a;makTuon».

Bremne «["anakTnon», pacronoKUBIIMKCS MO COCEACTBY C BEIOTPEKOM B KpbuiaTckowm,
HANIOMMHAET JIETHUH KuHOTeaTp. OTHAKO BMECTO OOBIYHOTO 3PUTEIHHOTO 3aJ1a B HEM
3aac(hanbTUpOBaHa CTOSHKA JUISI aBTOMOOMIICH, paccunTanHast Ha 150 mamuH.

CMoTpeTh KHHO Ha 3KpaHe pazmepoM 18x9 MeTpoB MOKHO depe3 I000BOe CTEKIIO, a
3BYK ITOJIACTCSl HANIPSMYIO B MallIMHY Yepe3 paJrolepeaTiiK, HACTPOCHHBIN Ha OHY U3
paauo-yactot. PaboTats «["anakTHoH» OyneT eXXeaHEBHO, HO TOIBKO 110 Beuepam — ¢
OJIMHHAIATH 4acoB Beuepa. buiet He u3 nemeBbix — okoio 200 py6neit. OgHako cTOUT
Y4€CTb, UTO B €70 CTOMMOCTb BKJIFOUEH JIETKUHN Y>KUH, KOTOPbIN OyAeT [0/1aBaThCs MpsIMO B
MAITHHBL.

HoBoe HOuHOe pa3BiieyeHHEe MPOCYIIECTBYET 10 KOHIA CEHTSOPs, oCie Yero BpEMEHHO
3aKpOETCsl HA JTOKJIMBBIMA U CHEXKHBIM CE30H.

Questions 2-3
2. Why might readers be tempted to patronize the business described in this article?

(A) Itis the only establishment of its kind in the city.

(B) There are special showings during summertime.

(C) There is ample parking a short walk from the facility.
(D) It is the only one with a state-of-the-art sound system.

The best answer is (A).

The passage is a report about a new drive-in theater that has opened up in Moscow. The theater
is described as the first such theater in all of Russia; hence, “A” is the best answer. “B” is not the
best answer because, although the theater will operate during the summer, no special showings
are mentioned. “C” is not the best answer because the nature of the facility entails that people
drive into it rather than park elsewhere and walk to it. “D” is not the best answer because the
facility itself is not described as having a sound system of its own.
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3 What is the one special service provided by this business?

(A) Valet parking for season ticket holders.

(B) Free radios for the first 150 customers.

(C) A meal comes with the price of admission.

(D) A discounted price is offered for the late show.

The best answer is (C).

The report also mentions that, although the tickets for this drive-in theater are expensive, they
include a light dinner, which is brought out to the cars. Therefore, “C” is the best answer. “A” is
not the best answer because neither valet parking nor the availability of season tickets is ever
mentioned. “B” is not the best answer because radios are only mentioned in connection with the
means by which moviegoers hear the soundtrack. “D” is not the best answer because no discount
prices are mentioned for any showings.

26



Level 3

From a weekly business magazine

3aMeTHIIN JIK BB, UTO YeM yCIICIIHEeE Ballla Kapbepa, TeM OOJIbIIe JKETAoIIX Ha Bac
CTYKHYTb? D10 X0poio. To, uTo Ha Bac cTyyar. bynb Bbl KakKUM-HUOY1b AKaKueM
AkakueBHYeM, Ballla CKpOMHasl IepcoHa Mayio Okl KOTO HHTEpecoBaa. CTydarT - 3HAUHUT
KOT'0-TO BbI YSI3BUJIM (PaKTOM cBoero cyiecTBoBaHus. C 4yero, COOCTBEHHO, Kapbephl U
HAYNHAIOTCS.

C «aatnamm» 60poThes 6ecnone3no. OHu ObUIH, €cTh U OyayT. ['oBOpAT OHM 00IIMMHU
dbpazamu 1 OT TpeTbero Juia: "ectb MHEHUE", "ToBopsT, uT0". OHU HE pabOTAIOT, OHU
HaJIQ)KMBAIOT CBS3U C OOLIECTBEHHOCTHIO. [IbITaThCs IPYKUTh C HUMU - TyCTOE AEJIO.
JIro6oe HedopMaTpHOE OOIICHIE OHM BOCITPHHUMAOT KaK IIAHC MAaKCUMaJIbHO MHOTO
y3HaTh 0 Bac. Ml moTom, nepeBepHyB C HOT Ha T'OJIOBY, IPENOJIHECTH HAYAJIbCTBY.
[lepenenbiBaTh, yrpoxaTh UM CTBLAUTD «AdTIa» Oecrone3Ho. OH Bpsia M Bac noiimer. 910
CTaHET JIMIIHUM ITOBOJIOM CJIMTh Ha Bac KOMIIpOMaT 0occy.

Ecnu BBl He XOTHTE, YTOOBI O Bac CyJaumiin B KabuHeTe meda, He KOPMUTE
JTr000MBITCTBO KOJUIET - U3 HETO BBIPACTET UyIOBHILE, KOTOPOE C allETUTOM MPOIJIOTUT
Bac. "Jlaten" mano Toro, yto HacTy4uT. [IpuBpeT, U3 YaCTHOrO Cily4asi BIBEET MPaBUIIO -
U BOT BBI - yOOTHH, K KOTOPOMY BCE BpeMs LIETIeTCS MEHTYPa, a AKEHIUHBI PUCYIOT pora.
Bripodem, Hellb3s1 OCTaBUTH KOJJICKTUB 0€3 KaKoH-Tn00 nHpOopMaIuu o cede, a TO KOJUIETH
TaKOTro MPO Bac HaCOUMHAIOT! Bepb cTykay - 3T0 MHOOPMAIIMOHHBIHN MBUIECOC, U OH HE
paszaensieT nHGOPMAIHIO Ha TIO3UTHBHYIO M HETaTUBHYIO. Tak uTo He rnepeycepAcTByiire!

YMmeno MaHuynupys HHGpopmanueil o cede, Bbl MOKETE 110CaIUTh CTyKaya B JIyxKY.
Mexay AeoM pacCKaXuTe B KypHIIKE KOJIJIETaM O TOM, YTO Y Bac €CTh TOYHAs
UH(pOpMaLUA O KaJpOBBIX IIEPECTaHOBKAX B (pupme-KoHKypeHTe. Bama "ne3a" 6bicTpo
nouaer go 6occa, U peryTanys CTykada B Tfla3aX HadaldbHUKA OyzeT noanopueHa. Eme
napa moA0OHbIX IPOKOJIOB CO CTOPOHBI HHPOPMATOPA - U KAOWHET UM B KpaiiHeM ciryyae
ymu 6occa OyayT U HeTo 3aKphIThl. Eciin sxe BeI BUAMTE, 9TO 11 BaC THXO THOOUT, HE
NpUIJIAIIAeT Ha JIETYYKH, He IpeJlaraeT BaM TaM BbICKA3aThCsl, 3HAYMT, U [IPaBJla Ha Bac
"nakananu". [TocTapaiiTech BBIYMCIUTh, KTO HaKaraj BalleMy pyKoBoAUTeN0. Torma Bam
OyJeT npolie 10rafaThesi, KAKUX co0aK TOT MOT Ha BaC OBECUTb.

Questions 4-5
4. The author of this passage provides advice on how to

(A) change an obstacle into an advantage.
(B) put one’s boss in his place.

(C) turn the tables on an adversary.

(D) win at playing office politics.

The best answer is (C).
The passage discusses the phenomenon of coworkers’ informing on each other to their boss. In
the fourth paragraph, the author describes a form of revenge a victim of this activity can take, in

which false information is given out in the expectation that the offending coworker(s) will pass
this along to the boss and be made to look foolish. This strategy could be described as “turning
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the tables on an adversary”; hence, “C” is the best answer. “A” is not the best answer because,
although the discussion does give advice on how to remove obstacles, no advice is given on how
to gain a positive advantage in the office. “B” is not the best answer because it is the informer
rather than the boss who is being put in his place. “D” is not the best answer because, as in “A”,
no advice is given on how to be successful in the office environment, only on how to remove a
potential obstacle to success.

5. What idea is most correctly associated with the expression nmocaagurts B Jyxy as it is used
in the third paragraph?

(A) To arouse someone’s anger.
(B) To put someone on the spot.
(C) To intimidate someone.

(D) To deflate someone’s ego.

The best answer is (B).

In explaining his prescribed method for taking revenge on an informing coworker, the author
describes how the use of this method will affect the offending coworker: it will make the
informer look foolish by putting him or her into an uncomfortable predicament; hence, “B” is the
best answer. “A” is not the best answer because making the informer angry, although a likely
outcome of the method, is not its goal. “C” is not the best answer because the method is not
intended to succeed by direct means such as intimidation. “D” is not the best answer because it
describes a possible outcome of the method that is not itself a goal of the method.
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Level 4

From a monthly magazine

""I'0e Hem mponsl, HAOO YACMO 021A0bIBAMBCA
Hazao, Ymoovl npamo uomu enepeo."
Bonbiie cta net Hazax Poccust BXxoaua B ABAALATHIN BEK, Kak ceifyac OHa BXOJAMT B
nBanuatTh nepsbliil. Kakoi ona cedst mpu sTom onrymana? Kakue ypoku BeiHECTa U3
MPEBITYIIero CTONETHs, KaKue YIOBaHus Bo3arana Ha HactynuBiiee? [Ipubernem
yCIIyTaM Jy4lield B MUPe MalluHbl BpEMEHH - CBOETO BooOpakeHus. [1ycTs oHa
BbICAIUT Hac B sitHBapckoi Mockse 1901 rona, ckaxkeM, B 3aMOCKBOpEYbE.

CkJ10H, BelylIMi K MPOTONTAHHON HAa KPEMKOM JIbly MOCKBBI-pEKH TPOIIUHKE,
3aJIUT SIPKUM, I10-0cO000MY OOAPSAIINM 3UMHHUM coiiHIleM. HaBepXy creneHHO
OeceyroT Mambl, 0a0YIIIKKU U IEAYIIKH, KATAlOT MJIAJCHIIEB, YTOOBI JIBIIIATN CBEKUM
BO30yX0M. OKOJIO OJTHOM U3 KOJIICOYEK BBICOKUI CTAPUK CO CTPOTMM JIULIOM B
MEXO0BOM KapTy3e. Bpems oT BpemeHu oH OepeTcs 3a pyuKy KOJISICKH U TOKaYUBAET -
CKOpEe BCEro, HE BHYKa, a IIPaBHYKa - XOTsI TOT HE I1a4eT. Y HUKAJIbHBIN
uctopuueckuit mur! /IBa Beka ere coeAMHEHbI yepe3 PU3NYECKOE TEN0 KOJISICKH, HO
COBCEM CKOPO OHM PaCLEIATCS, U 3a30p MEKJYy HUMHU HA4YHET YBEINYUBAThCS.

JleBATHAATHIN BEK - B MOPIIMHAX U CEJUHE CTAPHKA, B €r0 KEIE3HON NaMsATH.
Crapuk Bech TaM, HOBBIH BEK €My HE HY>KEH, Ha HETO HET YK€ HU CHJI, HU
mo0onbITcTBa. OH MOJIOH JJOPOTUM €T0 CEpPALLY MPOIUIBIM, KOTOPOE KOHYMIIOCH IS
KaJeHaaps, Ho He A1 Hero. OH BUJUT, KaK MaJIbYMIIKON CHAUT HAa KOJIEHAX
JTOOMMOTO JISi7TU, ¥ TOT PacCKa3bIBaeT eMy PO HelaBHee HamiecTBue Hamoneona... A
BOT U OH CaM y’Ke MOJI0/10i1 oduriep B narepe noj EBnaropueit, noqHUMaronuii cTaka
3a MaBIIMX BO BUEpalIHel OuTBe aApy3eid... [msaast na xpam Xpucra Criacurens,
CBEPKAIOLIHI 3010THIM KYTIOJIOM Ha TOI CTOPOHE PEKH, OH BCTIOMUHAET LIEPEMOHUIO
€T0 OCBSIICHUS, KOTIa OH CTOSUI COBCEM OJIM3KO OT HOBOTO I1apsi, CMEHUBIIIETO Ha
TpoHe youToro 60M00ii OTIIa, ¥ XOPOLIO Pa3risae ero oorateipckyo Gurypy. 1
JIWIIA, U, JIUA - KpaCHUBbIE, 0OphIe, MITbIe. VX y’Ke HUKOTO HET, BUJCBIINX TO Ke
camoe, YTO BUJIEJ OH, U, IKO HOYHOM BpaH Ha HBIPUILE, OH OJIMH XPAHUT B cede
APKOCTb, OOTaTCTBO, MOILb U KPACOTY HAIIOJIHEHHOTO KaJladyaMH, JOLIaAbMH,
nobenamu, 6epe30BbIMU BEHUKAMH, T'yJIOM T'OJIOCOB, IIENOTOM BIIOOJCHHBIX U
MaplIamMy JTyXOBBIX OPKECTPOB HEITOBTOPUMOIO BEIMKOTO cTosieTns Bennkoit Poccun.

OH 3HaeT, 4To cell, JIeXkKalni B KOJIICOUKE, YBUIUT BOCCTAHUE U NAJCHNE MHOTHX.
['MMHA3UCTOM-BBIITYCKHUKOM OH Y3HAeT 00 OTPEUEHUU 1apsi U pacKyIoOpUT C
OJTHOKAIITHUKaMHM IIaMIaHckoe: cBoOoa!l daHTaszus BOCTOPKEHHOTO FOHOILIN HAPUCYET
eMy IpeKkpacHoe BojabHOEe OTeuecTBO, HO 3Ta di(opust mpepBeTcs rpaxIaHCKOH
BOITHOM, KOTOpas OyaeT HocuTh ero ot Bapmassl 10 Bonouaescka. [Totom... Bor
HAWIy4IlIMi BApUAHT €ro Cy/1b0bl: OH MOENET CTPOUTh MaruuTKy 1, OKOHYUB 320YHO
MHCTUTYT, cTaHET MHKeHepoM. IlomyunT ot BopommioBa opzieH 3a BKi1aJ B
COBETCKYIO METAJUIypryIO U CHOBA yiJIeT Ha BOWHY, Ha 3TOT pa3 ¢ ¢ammcramu. Ilo ee
OKOHYAHUH - BO3BpallleHUE B poJHYI0 MockBy, cMepTh CTanuHa, XpyIleBcKas "Bropas
NOMBITKA" MOCTPOEHUS] KOMMYHHU3Ma, 3aCTOM, Ha4yaJlo nepecTpoiiku (eciau bor mpacrt
eMy J0XKHTb /10 Hee), TOJIHOE pa3odapoBaHue Bo BceM. He Ha To oH Hajesuics, He TOro
KJ1aJ1, IPUBETCTBYS MATeKHBINH DeBpaib... [ 1e-to Oblia qomymieHa omuoka, a rae?
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Questions 6-8
6. What implication does the epigraph at the beginning of the passage have in this
passage?

(A) The past is the best predictor of the future.
(B) One cannot escape one’s destiny.

(C) The path to the future is unpredictable.
(D) One should profit from one's mistakes.

The best answer is (A).

The passage is an author’s attempt to derive some understanding of the course that the 21*
century will take from events of the 20" century. To accomplish this, he brings the reader back to
the beginning of the 20" century, to see, in turn, how it evolved from the century before it, using
an old man and his great-grandson as the symbols of the two centuries. Because the epigraph
means, “Where there is no path, one often needs to look back in order to move forward,” the best
answer is “A”. “B” is not the best answer, because although the baby’s destiny is discussed, it is
not portrayed as inescapable; what the author portrays is the best that the baby can hope for,
leaving room for other possible life paths. “C” is not the best answer because, even though the
baby’s destiny is not portrayed as inescapable, it is portrayed as bounded, and the point of the
passage as a whole is that an understanding of the future’s course can be learned from the past.
“D” 1s not the best answer because, even though the passage as a whole implies that one should
profit by one’s mistakes, the meaning of the epigraph takes in learning from successes as well.

7. The author's attitude toward 19th century Russia seems to be one of

(A) disaffection due to its pompousness.
(B) admiration of its qualities.

(C) regret over its unfulfilled potential.
(D) acceptance of its shortcomings.

The best answer is (B).

The author discusses the 19" century in the third paragraph, where he discusses the old man’s
positive memories from his lifetime, many of which relate directly to qualities of Great Russia
such as brightness, richness, power, and beauty; hence, “B” is the best answer. “A” is not the
best answer because the paragraph clearly has a positive tone, indicating the old man’s nostalgia
and the author’s tacit approval of the old man’s attitude. “C” is not the best answer because the
only unfulfilled potential symbolized is that of the baby, who is associated with the 20" century.
“D” is not the best answer because the portrayal of Russia in the third paragraph does not deal
with Russia’s shortcomings.
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8. The phrase BoT Hanay4muii BapuaHnT ero cyabOsbl in the last paragraph most likely
suggests that the young man will

(A) suffer indignity.

(B) survive hardship.

(C) overcome his fears.
(D) sacrifice his principles.

The best answer is (B).

In the last paragraph of the passage, the author introduces the baby’s imagined destiny as the best
future that the baby can hope for and goes on to paint a picture of great promise unfulfilled, with
attendant hardships to endure and ultimate disappointment; hence, “B” is the best answer. “A” is
not the best answer because no indignities directed at the young man are portrayed or implied.
“C” is not the best answer because the young man’s fears, as opposed to his hopes, are never
addressed. “D” is not the best answer because although the young man is forced to sacrifice his
hopes, it is never implied that his principles are also sacrificed.
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Russian DLPT5 Listening Comprehension Sample Passages
Note: Examinees will not see passage transcripts in an actual DLPTS listening test.

Level 1+
This passage is from a medical program on the radio.

F1: U B xoHIIe HamIel niepeaadn s XoTesia Obl MOrOBOPUTH HEMHOTO O HOBOM CPEJICTBE OT
rosioBHOU 60mu. HassiBaeTcst 3ToT npenapat "bukycun", a nenarot ero Ha benropoackoii
(dhapmaneBTrueckoit padbpuke. Haranbs BukroposHa OpiioBa - ['eHepaibHBIN TUPEKTOP ITOH
¢dabpuku. Hatanes BukTopoBHa, 4TO BBl MOXKETE paccka3aTb 00 3TOM Ipernapare.

F2: la, 570 nepBblii OTEYECTBEHHBIN MpenapaT TaKoro pojia Ha HameM pblHKe. HecOMHEHHBIM
2

JOCTOMHCTBOM "bBuKycuHa" SBISETCS €ro 04eHb JOCTYIHAs LIEHA - BCETO JIUIIb OKOJIO 4-X

pyOIIeH.

F1: Jla uto BBI?!

F2: la, na. I1pu a3ToM ero nericTBre HacTOIBKO 3P (HEKTUBHO, UTO IPEBOCXOAUT MHOTHE JOPOTHE
3arpaHuyHbIe penapathl. S yoenunace B 3ToM Ha coocTBeHHOM npumepe. CoBeToBaja Obl U
BaM MonpoOoBaTh.

F1: Hy, s mymaro, 9T0 HAIIK CITyIIATEIH BOCIOIB3YIOTCS BAalllUM COBETOM M MOMPOOYIOT 3TO
CPEICTBO OT royioBHOM 6omu. Cracu6o.

Question 1
1. What is the speakers’ goal in this part of the program?

(A) To encourage listeners to try out a new product.

(B) To inform listeners about a recall of a popular painkiller.
(C) To describe a new product rebate offer to listeners.

(D) To tell listeners about a new domestic drug manufacturer.

The best answer is (A).

The speakers are discussing a new medication to treat headaches; therefore “A” is the best
answer. “B” is not the best answer because the product has been introduced, not recalled. “C” is
not the best answer because the speakers mentioned that the medication is affordable generally,
not that there are any special deals. “D” is not the best answer because the main subject of
discussion is a new medicine, not the pharmaceutical factory producing it.
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Level 2

This passage is from a local news broadcast.

Bosne ropoaa I1aBnoBo Ha pexe Oka mpoBaTUINCh N0 Jea Tpu aBToMmoomsisa. Kak cooGmimm B
Ob6nactHOM YmpaBieHUH ABTOMHCIIEKIIMH, BOJAUTEIHN TPEX JETKOBBIX aBTOMOOUIICH He
oOpaTuiii BHUMaHKE Ha 3HAKH, 3alPEIIAloIIne Bhe3 ] Ha PEKy, U, TIPEOI0JICB 3arpaJUuTeIbHBINA
BaJl M3 CHera, Belexasu Ha Jiel. OJTHaKO MepenpaBUThCS TAKUM CIIOCOOOM Yepe3 peKy UM He
yaJIOCh - HEe JoeXaB 10 paBoro Oepera Oku, BCe TPU MAIIWHBI TPOBAMINCH TIOA JIEI.

BoaurensaMm u naccaxxupam JByX MalIMH yAaJoCh cliacTUCh. BoauTens u ABa naccaxupa
TPEThEro aBTOMOOMIISI YTOHYJIM BMECTE C MALIMHOIA.

[Touck yTOHYBIIMX TIOJEH U aBTOMOOMIIEH BeIyT OiepaTUBHAS TPYIINa OT/IeNa 1Mo
YPE3BBIYANHBIM TPOUCIIECTBHUAM U BOJI0JIA3bl aBAPUHNHO-CIIACATEIIBHOTO OTPSiAA, B3SBILHE C
co00i1 CyIHO Ha BO3IYIIHOM MOIYIIKE.

Questions 2-3
2. What was reported regarding the cause of the accident?

(A) The drivers of the cars had disregarded posted warning signs.

(B) The cars were not in compliance with safety regulations.

(C) The protective wall made of snow collapsed under the weight of the cars.
(D) The cars were not properly equipped for driving on ice-covered roads.

The best answer is (A).

The passage is a news report about an accident in which three cars sank in an ice-covered river.
According to the report, the cars ignored posted warning signs; hence, “A” is the best answer.
The report also stated that the cars drove over a protective snow barrier, ending up on the frozen
river, where the ice gave way under the cars. “B” is not the best answer because the cars’
condition with regard to safety regulations was never mentioned. “C” is not the best answer
because, although the cars drove over a protective snow barrier, the accident occurred once they
reached the frozen river. “D” is not the best answer because, as in B, the cars’ condition was
never mentioned and because the accident occurred on an ice-covered river rather than on an ice-
covered road.
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3. What happened as a result of the accident?

(A) A rescue boat capsized and sank.

(B) A traffic patrol officer was hurt.

(C) Two passengers suffered head injuries.
(D) Three people drowned in a car.

The best answer is (D).

The passage also reports that the driver and two passengers in one of the cars drowned after the
car sank; hence, “D” is the best answer. “A” is not the best answer because, although the report
mentions an attempt being made to retrieve the drowned bodies and sunken cars, no rescue boats
were reported to have sunk. “B” is not the best answer because no traffic patrol officers are
mentioned in the report. “C” is not the best answer because no head injuries to any of the
accident victims were reported.
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Level 3

This passage is taken from an interview with a warden.

F: Anatoimii I'puropseBu4, moxo:xe, 4To 1o KOJUYECTBY 3aKJTIYEHHBIX MbI TOXKe
BIlepeIN IUIaHEeThI BCeil. 3a cueT Yero MomnoJIHsTCA HAIIM TIOPbMBbI U CJIeACTBEHHbIE
U30JIATOPBI?

M: JleiicTBUTENTBHO, CEPbE3HBIN BOMPOC. Tak 3aBeOCh Y HAC BCE €IIe C COBETCKUX BPEMEH, UTO
HYHO KaK MO>XHO OOJIbIIIE JII0JIeH TToCauTh B TIOpbMY. CyIlIeCTBYeT MajouyHas CUCTEMA.
PaGoTHHKH OpraHOB BHYTPEHHUX /€T IOJDKHBI 32 CYyTKH HECKOJIBKO YETIOBEK JOCTaBUTH B
OTJIETICHUE MUJIUITUH.

F: A KT0 3T0 B IU1aH UM cIycKaet?

M: Hy, Takoro pykoBoauTeIsl BHYTPEHHHX JI€J1, KOTOPbIi Obl mpuKasai: Tel, FIBaHOB 10JKeEH,
JOITyCTUM, JOCTaBUTh B OTJEIICHUE MUIHMLIMHY, IIbSHBIX, TaM, 20 4eI0BEK, HAPKOMAHOB, TaM, 15
YEJIOBEK, TAKOTO PyKOBOJIUTEINA HET, KOHEUHO. Ho HernmacHas Takas yCTaHOBKA BCE €I1IE
CYILIECTBYET.

F: A nouemy?

M: Buaumo, 3TO CBSI3aHO C TEM, YTO, KOTJa MPOXOIAT OTYETHI, KBapTAIbHBIE, TaM, TOJIUYHBIE,
9TOOBI PAOPTOBATH HABEPX, UTO BOT TAKOW OpraH BHYTPEHHHX A€ PaCKpPbLI CTOJIBKO-TO
MPECTYIUICHU, TAKOM - CTOJIBKO-TO... Hekoe BOT coCTA3aHne MEXAY MOAPa3ACIICHUSIMH.

F: U B pe3yabTaTe 4ncii0 3aKJIHYEHHBIX PACTET, KOJHYECTBO MPECTYIJIEHUI TOXKe
pacret?

M: KoneuyHo. MBI IpecTyNHOCTh MOXKEM UCKOPEHUTH TOJIBKO MTOJHNUMAsl COLIMAIbHBINA YPOBEHD
9eNoBeKa. A BOT TO, YTO HEKOTOPBIE pAOOTHHUKH MTPABOOXPAHUTEILHBIX OPTaHOB MBITAIOTCS
BHE/IPUTH B Hallle CO3HAHUE, YTO, BOT, CMEPTHYIO Ka3Hb HaJl0 BBECTH, HYKHBI O0JIee CypOBbIe
HaKa3aHMsl, - 3T0 HenpaBuwibHO. EcTh nctopus... JlaBaiite yunThcs Ha OUIMOKaX UCTOPHH.

Questions 4-5
4. What can one infer from this interview about the legal system in Russia?

(A) Some Interior Ministry bosses issue illegitimate arrest orders.

(B) The number of inmates is higher than in Soviet times.

(C) The law-enforcement personnel follow an unwritten quota law.

(D) Police base the number of arrests they make on historical crime statistics.

The best answer is (C).
The passage is an interview with a prison warden, who is discussing problems in the Russian

penal system, particularly the disturbingly large number of prisoners. One of the possible causes
mentioned by the warden is that police are required to arrest a certain number of people per day,
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although this requirement has never been issued as an explicit directive; hence, “C” is the best
answer. “A” is not the best answer because the issuing of explicit orders by Interior Ministry
bosses is denied by the warden. “B” is not the best answer because, although the problem is said
to have originated in Soviet times, no comparison is made or implied with the present time in
terms of number of prisoners. “D” is not the best answer because the warden implies that the
number of arrests is based on a competition between precincts rather than on historical crime
statistics.

5. Which of the following conclusions can be drawn from this discussion?

(A) Holding law enforcement accountable will eliminate the quota system.
(B) Improvements in the quality of life are likely to reduce crime.

(C) Stiffer sentences for criminals will diminish the effect of the quota system.
(D) High arrest rates will eventually reduce crime over time.

The best answer is (B).

The warden ends up by offering his opinion that the solution to the prison problem lies in raising
the general quality of life in society rather than in imposing harsher penalties, as some have
suggested. Therefore, “B” is the best answer. “A” is not the best answer because no reason is
given to believe that the elimination of the quota system could be achieved simply by holding
law enforcement accountable for their actions. “C” is not the best answer because the warden
implies that stiffer penalties have historically proven to be a mistake. “D” is not the best answer
because the problem, which has been linked to high arrest rates, has been in existence for some
time already with no signs of abating.
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Level 4

This passage is from a talk show, Anthropology of Man.

M1: 5, ckopee, HTPOK, YeM ¢aTaauct: s 60J1b1Ie BepPI0 B CJIy4ai.

M2: A He 3aJ0€eH JIU clly4ail B TOM e camoi Haiel cyipoe? Ha Moil B3riisia, y MeHs ecTh
Takoi o0pa3: Halla *HU3Hb — 3TO KaK KaKOW-TO TOHHEIb, CKaXKeM, TPEXMETPOBOM-
4eThIpeXMeTpoBoil mupuHbl. O0111ee HalpaBiIeHne 3aJaHo. Bbl MoXkeTe J1aBUpOBaTh, TO €CTh
U3MEHSTh, KaK Bbl CYMTAETE HY>KHBIM, Bbl MOXKETE U3MEHSTh CBOIO KU3Hb TOJIKO HAa 9THX BOT
YeThIpeX MeTpax, a 00liee HarmpaBiIeHue 3a1aHo. 1 cBeT Wil 4TO-TO TaM — B KOHIIE TOTO
ToHHeNs. Kak BbI OTHOCHTECH K TakoMy 00pazy?

M1: Jlwo0sbie 00pa3bl U JIO0bIe aHAJIOTMU — OHH YpeBaThl. Ho s1 Mory cka3arsb, 4to: a
Tenepsb NpeAcTaBbTe cede, YTO MO OHTOJIOTHS — He TYHHE/Ib, 2 HA000pOT — MYCTOTA, I1e
B0OOIIe HUKAKHX PAMOK.

M2: IlpekpacHo.
M1: U kak ObITHL TOrAa?
M2: He 3Haro.

M1: 3aro s 3nar0. Haxo cmupenHo xkaathb cay4das. ToJbKO HA/10 Bce BpeMsi CTABUTD, TO
ecTh — Bce BpeMsi paboratb. Ka:knblii mo-ceoemy craBut. [loaTomy — Bce 3aBHCUT OT
HAamuX oHTOJOruid. Ec/in Bamia oHT0JIOrMsl TAKOBA, TO 51 HEe 3HAI0, KaK TaM
AelCcTBOBAThb. JTO — BALLIA OHTOJIOTHA. S ’KMBY B IPYroii OHTOJIOTMH U He 3HAI0, KAK
JelCTBOBATH B Ballleii.

M2: A s He 3Ha10, KaKk JCHCTBOBAThH B BallIEH.

M1: OrimuHo. U MBI Ka:KIblil 0€:KUM MO-CBOEMY.
M2: Jla. la, 1 — 110 TOHHEIO, a BHI...

M1: A s B nmycrore.

M2: Kcratu, kak Bbl oTHOCUTECH K poMmaHy [leneBuna «Hamaes u Ilycrora»? Ero nonsrue
ITyCTOTHI MHE ITOKA3aJIOCh CO3BYYHBIM BallIEMYy.

M1: Hy, mycToTa, HABepHO, BCEM CO3BY4YHA OJMHAKOBO — KaK IYCTOTAa. A-A, HO,
B0001IE-TO, 3TO OyaucTcKoe moHATHe. U 51 Aymar, 4To KOPHU NMPeACTABJICHUN U Y
IleneBuHa U y MHOTHX JAPYTHX HAYT KaK 0TroJocku Oyaausma. byiiusm 0b11 1 octaercst
OJHHMM M3 MOIIHeHINX (PHUIOCOPCKUX TeYEeHHH, KOTOPBIE... KOTOPHIMH MbI 3apa:KeHbl,
AaKe He 3aMevasi 3TOro. JTo NPOHMKAeT, KAK U XPUCTHAHCTBO IPOHUKAET, B JIIO/Ieil; He
3aMey4aloT JIIOJH 3TOIr0 NPOHMKHOBEHHS — MOPOIi.

M2: Hy, na, Takue NOHATHs KaKk 100poTa, HO-MOEMY, IPUCYIIH BCEM.
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Questions 6-7
6. One major difference between the speakers with regard to world view is

(A) the way in which the course of an individual’s life is determined.

(B) the role that moral values such as kindness play in society.

(C) the path an individual must follow to reach enlightenment.

(D) the degree to which religion has influenced the progression of history.

The best answer is (A).

The passage is a conversation between two people who are discussing their respective world
views. One of them believes that an individual’s life path can be explained by reference to the
concept of chance, whereas the other one believes that it is explained by reference to the concept
of emptiness. Therefore, “A” is the best answer. “B” is not the best answer because moral values
on the societal level are never discussed directly. “C” is not the best answer because, although
the life path of an individual is discussed, the goal of enlightenment is never discussed. “D” is
not the best answer because, although the influence of Buddhism is mentioned by one of the
speakers, it is in connection with people’s philosophy of life rather than with history, and the
other speaker adds the example of Christianity but does not dispute the example of Buddhism.

7. What does one of the speakers imply about the concept of emptiness?

(A) It cannot account for the same range of phenomena as can the concept of chance.
(B) Its best exposition is found in the writings of Pelevin.

(C) Its propagation by a well-known belief system has led to a common understanding.
(D) It is too vague to base a philosophy of life on.

The best answer is (C).

Towards the end of the conversation, one of the speakers is asked to elaborate on the concept of
emptiness as expounded by the author Pelevin, and he offers the opinion that the concept is a
result of the subtle, pervasive influence of Buddhism on society in general and on Pelevin in
particular. Therefore, “C” is the best answer. “A” is not the best answer because the range of
phenomena that can be explained by chance versus emptiness is never the topic of the discussion.
“B” is not the best answer because the only discussion of Pelevin’s exposition of emptiness
involves its origin rather than its relative quality in his writings. “D” is not the best answer
because, although one of the speakers does say that he cannot base his philosophy of life on
emptiness, he does not imply that the reason is the vagueness of the concept.
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Appendix A: Interagency Language Roundtable Language
Skill Level Description

Preface

The following descriptions of proficiency levels 0, 1, 2, 3, 4, and 5 characterize spoken-
language use. Each higher level implies control of the previous levels' functions and
accuracy. The designation 0+, 1+, 2+, etc. will be assigned when proficiency
substantially exceeds one skill level and does not fully meet the criteria for the next
level. The "plus-level" descriptions, therefore, are subsidiary to the "base-level"
descriptions.

A skill level is assigned to a person through an authorized language examination.
Examiners assign a level on a variety of performance criteria exemplified in the
descriptive statements. Therefore, the examples given here illustrate, but do not
exhaustively describe, either the skills a person may possess or situations in which
he/she may function effectively.

Statements describing accuracy refer to typical stages in the development of
competence in the most commonly taught languages in formal training programs. In
other languages, emerging competence parallels these characterizations, but often with
different details.

Unless otherwise specified, the term '"native speaker" refers to native speakers of a
standard dialect.

"Well-educated," in the context of these proficiency descriptions, does not necessarily
imply formal higher education. However, in cultures where formal higher education is
common, the language-use abilities of persons who have had such education is [sic]
considered the standard. That is, such a person meets contemporary expectations for
the formal, careful style of the language, as well as a range of less formal varieties of the
language.

These descriptions may be further specified by individual agencies to characterize those
aspects of language-use performance which are of insufficient generality to be included
here.

Interagency Language Roundtable Language Skill Level Descriptions: Listening
Listening 0 (No Proficiency)

No practical understanding of the spoken language. Understanding is limited to
occasional isolated words with essentially no ability to comprehend communication.

(Has been coded L-0 in some nonautomated applications. [Data Code 00]

Listening 0+ (Memorized Proficiency)
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Sufficient comprehension to understand a number of memorized utterances in areas of
immediate needs. Slight increase in utterance length understood but requires frequent
long pauses between understood phrases and repeated requests on the listener's part
for repetition. Understands with reasonable accuracy only when this involves short
memorized utterances or formulae. Utterances understood are relatively short in length.
Misunderstandings arise due to ignoring or inaccurately hearing sounds or word
endings (both inflectional and non-inflectional), distorting the original meaning. Can
understand only with difficulty even such people as teachers who are used to speaking
with non-native speakers. Can understand best those statements where context strongly
supports the utterance's meaning. Gets some main ideas. (Has been coded L-0+ in some
nonautomated applications.) [Data Code 06]

Listening 1 (Elementary Proficiency)

Sufficient comprehension to understand utterances about basic survival needs and
minimum courtesy and travel requirements in areas of immediate need or on very
familiar topics, can understand simple questions and answers, simple statements and
very simple face-to-face conversations in a standard dialect. These must often be
delivered more clearly than normal at a rate slower than normal with frequent
repetitions or paraphrase (that is, by a native used to dealing with foreigners). Once
learned, these sentences can be varied for similar level vocabulary and grammar and
still be understood. In the majority of utterances, misunderstandings arise due to
overlooked or misunderstood syntax and other grammatical clues. Comprehension
vocabulary inadequate to understand anything but the most elementary needs. Strong
interference from the candidate's native language occurs. Little precision in the
information understood owing to the tentative state of passive grammar and lack of
vocabulary. Comprehension areas include basic needs such as: meals, lodging,
transportation, time and simple directions (including both route instructions and orders
from customs officials, policemen, etc.). Understands main ideas. (Has been coded L-1
in some nonautomated applications.) [Data Code 10]

Listening 1+ (Elementary Proficiency, Plus)

Sufficient comprehension to understand short conversations about all survival needs
and limited social demands. Developing flexibility evident in understanding a range of
circumstances beyond immediate survival needs. Shows spontaneity in understanding
by speed, although consistency of understanding is uneven. Limited vocabulary range
necessitates repetition for understanding. Understands more common time forms and
most question forms, some word order patterns, but miscommunication still occurs
with more complex patterns. Cannot sustain understanding of coherent structures in
longer utterances or in unfamiliar situations. Understanding of descriptions and the
giving of precise information is limited. Aware of basic cohesive features (e.g.,
pronouns, verb inflections) but many are unreliably understood, especially if less
immediate in reference. Understanding is largely limited to a series of short, discrete
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utterances. Still has to ask for utterances to be repeated. Some ability to understand
facts. (Has been coded L-1+ in some nonautomated applications.) [Data Code 16]

Listening 2 (Limited Working Proficiency)

Sufficient comprehension to understand conversations on routine social demands and
limited job requirements. Able to understand face-to-face speech in a standard dialect,
delivered at a normal rate with some repetition and rewording, by a native speaker not
used to dealing with foreigners, about everyday topics, common personal and family
news, well-known current events and routine office matters through descriptions and
narration about current, past and future events; can follow essential points of discussion
or speech at an elementary level on topics in his/her special professional field. Only
understands occasional words and phrases of statements made in unfavorable
conditions, for example through loudspeakers outdoors. Understands factual content.
Native language causes less interference in listening comprehension. Able to
understand facts; i.e., the lines but not between or beyond the lines. (Has been coded L-
2 in some nonautomated applications.) [Data Code 20]

Listening 2+ (Limited Working Proficiency, Plus)

Sufficient comprehension to understand most routine social demands and most
conversations on work requirements as well as some discussions on concrete topics
related to particular interests and special fields of competence. Often shows remarkable
ability and ease of understanding, but under tension or pressure may break down.
Candidate may display weakness or deficiency due to inadequate vocabulary base or
less than secure knowledge of grammar and syntax. Normally understands general
vocabulary with some hesitant understanding of everyday vocabulary still evident. Can
sometimes detect emotional overtones. Some ability to understand implications. (Has
been Coded L-2+ in some nonautomated applications.) [Data Code 26]

Listening 3 (General Professional Proficiency)

Able to understand the essentials of all speech in a standard dialect including technical
discussions within a special field. Has effective understanding of face-to-face speech,
delivered with normal clarity and speed in a standard dialect on general topics and
areas of special interest; understands hypothesizing and supported opinions. Has broad
enough vocabulary that rarely has to ask for paraphrasing or explanation. Can follow
accurately the essentials of conversations between educated native speakers, reasonably
clear telephone calls, radio broadcasts, news stories similar to wire service reports, oral
reports, some oral technical reports and public addresses on non-technical subjects; can
understand without difficulty all forms of standard speech concerning a special
professional field. Does not understand native speakers it they speak very quickly or
use some slang or dialect. Can often detect emotional overtones. Can understand
implications. (Has been coded L-3 in some nonautomated applications.) [Data Code 30]

Listening 3+ (General Professional Proficiency, Plus)
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Comprehends most of the content and intent of a variety of forms and styles of speech
pertinent to professional needs, as well as general topics and social conversation.
Ability to comprehend many sociolinguistic and cultural references. However, may
miss some subtleties and nuances. Increased ability to comprehend unusually complex
structures in lengthy utterances and to comprehend many distinctions in language
tailored for different audiences. Increased ability to understand native speakers talking
quickly, using nonstandard dialect or slang; however, comprehension is not complete.
Can discern some relationships among sophisticated listening materials in the context
of broad experience. Can follow some unpredictable turns of thought readily, for
example, in informal and formal speeches covering editorial, conjectural and literary
material in subject matter areas directed to the general listener. (Has been coded L-3+ in
some nonautomated applications.) [Data Code 36]

Listening 4 (Advanced Professional Proficiency)

Able to understand all forms and styles of speech pertinent to professional needs. Able
to understand fully all speech with extensive and precise vocabulary, subtleties and
nuances in all standard dialects on any subject relevant to professional needs within the
range of his/her experience, including social conversations; all intelligible broadcasts
and telephone calls; and many kinds of technical discussions and discourse.
Understands language specifically tailored (including persuasion, representation,
counseling and negotiating) to different audiences. Able to understand the essentials of
speech in some non-standard dialects. Has difficulty in understanding extreme dialect
and slang, also in understanding speech in unfavorable conditions, for example through
bad loudspeakers outdoors. Can discern relationships among sophisticated listening
materials in the context of broad experience. Can follow unpredictable turns of thought
readily, for example, in informal and formal speeches covering editorial, conjectural
and literary material in any subject matter directed to the general listener. (Has been
coded L-4 in some nonautomated applications.) [Data Code 40]

Listening 4+ (Advanced Professional Proficiency, Plus)

Increased ability to understand extremely difficult and abstract speech as well as ability
to understand all forms and styles of speech pertinent to professional needs, including
social conversations. Increased ability to comprehend native speakers using extreme
nonstandard dialects and slang, as well as to understand speech in unfavorable
conditions. Strong sensitivity to sociolinguistic and cultural references. Accuracy is
close to that of the well-educated native listener but still not equivalent. (Has been
coded L-4+ in some nonautomated applications.) [Data Code 46]

Listening 5 (Functionally Native Proficiency)

Comprehension equivalent to that of the well-educated native listener. Able to
understand fully all forms and styles of speech intelligible to the well-educated native
listener, including a number of regional and illiterate dialects, highly colloquial speech
and conversations and discourse distorted by marked interference from other noise.
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Able to understand how natives think as they create discourse. Able to understand
extremely difficult and abstract speech. (Has been coded L-5 in some nonautomated
applications.) [Data Code 50]

Interagency Language Roundtable Language Skill Level Descriptions: Reading

R-0: Reading 0 (No Proficiency)
No practical ability to read the language. Consistently misunderstands or cannot
comprehend at all. [Data Code 00]

R-0+: Reading 0+ (Memorized Proficiency)

Can recognize all the letters in the printed version of an alphabetic system and high-
frequency elements of a syllabary or a character system. Able to read some or all of the
following: numbers, isolated words and phrases, personal and place names, street signs,
office and shop designations. The above often interpreted inaccurately. Unable to read
connected prose. [Data Code 06]

R-1: Reading 1 (Elementary Proficiency)

Sufficient comprehension to read very simple connected written material in a form
equivalent to usual printing or typescript. Can read either representations of familiar
formulaic verbal exchanges or simple language containing only the highest frequency
structural patterns and vocabulary, including shared international vocabulary items
and cognates (when appropriate). Able to read and understand known language
elements that have been recombined in new ways to achieve different meanings at a
similar level of simplicity. Texts may include descriptions of persons, places or things:
and explanations of geography and government such as those simplified for tourists.
Some misunderstandings possible on simple texts. Can get some main ideas and locate
prominent items of professional significance in more complex texts. Can identify
general subject matter in some authentic texts. [Data Code 10]

R-1+: Reading 1+ (Elementary Proficiency, Plus)

Sufficient comprehension to understand simple discourse in printed form for
informative social purposes. Can read material such as announcements of public events,
simple prose containing biographical information or narration of events, and
straightforward newspaper headlines. Can guess at unfamiliar vocabulary if highly
contextualized, but with difficulty in unfamiliar contexts. Can get some main ideas and
locate routine information of professional significance in more complex texts. Can
follow essential points of written discussion at an elementary level on topics in his/her
special professional field.

In commonly taught languages, the individual may not control the structure well. For
example, basic grammatical relations are often misinterpreted, and temporal reference
may rely primarily on lexical items as time indicators. Has some difficulty with the
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cohesive factors in discourse, such as matching pronouns with referents. May have to
read materials several times for understanding. [Data Code 16]

R-2: Reading 2 (Limited Working Proficiency)

Sufficient comprehension to read simple, authentic written material in a form
equivalent to usual printing or typescript on subjects within a familiar context. Able to
read with some misunderstandings straightforward, familiar, factual material, but in
general insufficiently experienced with the language to draw inferences directly from
the linguistic aspects of the text. Can locate and understand the main ideas and details
in material written for the general reader. However, persons who have professional
knowledge of a subject may be able to summarize or perform sorting and locating tasks
with written texts that are well beyond their general proficiency level. The individual
can read uncomplicated, but authentic prose on familiar subjects that are normally
presented in a predictable sequence which aids the reader in understanding. Texts may
include descriptions and narrations in contexts such as news items describing
frequently occurring events, simple biographical information, social notices, formulaic
business letters, and simple technical material written for the general reader. Generally
the prose that can be read by the individual is predominantly in straightforward/high-
frequency sentence patterns. The individual does not have a broad active vocabulary
(that is, which he/she recognizes immediately on sight), but is able to use contextual
and real-world cues to understand the text. Characteristically, however, the individual
is quite slow in performing such a process. Is typically able to answer factual questions
about authentic texts of the types described above. [Data Code 20]

R-2+: Reading 2+ (Limited Working Proficiency, Plus)

Sufficient comprehension to understand most factual material in non-technical prose as
well as some discussions on concrete topics related to special professional interests. Is
markedly more proficient at reading materials on a familiar topic. Is able to separate the
main ideas and details from lesser ones and uses that distinction to advance
understanding. The individual is able to use linguistic context and real-world
knowledge to make sensible guesses about unfamiliar material. Has a broad active
reading vocabulary. The individual is able to get the gist of main and subsidiary ideas
in texts which could only be read thoroughly by persons with much higher
proficiencies. Weaknesses include slowness, uncertainty, inability to discern nuance
and/or intentionally disguised meaning. [Data Code 26]

R-3: Reading 3 (General Professional Proficiency)

Able to read within a normal range of speed and with almost complete comprehension
a variety of authentic prose material on unfamiliar subjects. Reading ability is not
dependent on subject matter knowledge, although it is not expected that the individual
can comprehend thoroughly subject matter which is highly dependent on cultural
knowledge or which is outside his/her general experience and not accompanied by
explanation. Text-types include news stories similar to wire service reports or
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international news items in major periodicals, routine correspondence, general reports,
and technical material in his/her professional field; all of these may include hypothesis,
argumentation and supported opinions. Misreading rare. Almost always able to
interpret material correctly, relate ideas and '"read between the lines," (that is,
understand the writers' implicit intents in text of the above types). Can get the gist of
more sophisticated texts, but may be unable to detect or understand subtlety and
nuance. Rarely has to pause over or reread general vocabulary. However, may
experience some difficulty with unusually complex structure and low frequency idioms.
[Data Code 30]

R-3+: Reading 3+ (General Professional Proficiency, Plus)

Can comprehend a variety of styles and forms pertinent to professional needs. Rarely
misinterprets such texts or rarely experiences difficulty relating ideas or making
inferences. Able to comprehend many sociolinguistic and cultural references. However,
may miss some nuances and subtleties. Able to comprehend a considerable range of
intentionally complex structures, low frequency idioms, and uncommon connotative
intentions, however, accuracy is not complete. The individual is typically able to read
with facility, understand, and appreciate contemporary expository, technical or literary
texts which do not rely heavily on slang and unusual items. [Data Code 36]

R-4: Reading 4 (Advanced Professional Proficiency)

Able to read fluently and accurately all styles and forms of the language pertinent to
professional needs. The individual's experience with the written language is extensive
enough that he/she is able to relate inferences in the text to real-world knowledge and
understand almost all sociolinguistic and cultural references. Able to "read beyond the
lines" (that is, to understand the full ramifications of texts as they are situated in the
wider cultural, political, or social environment). Able to read and understand the intent
of writers' use of nuance and subtlety. The individual can discern relationships among
sophisticated written materials in the context of broad experience. Can follow
unpredictable turns of thought readily in, for example, editorial, conjectural, and
literary texts in any subject matter area directed to the general reader. Can read
essentially all materials in his/her special field, including official and professional
documents and correspondence. Recognizes all professionally relevant vocabulary
known to the educated non-professional native, although may have some difficulty
with slang. Can read reasonably legible handwriting without difficulty. Accuracy is
often nearly that of a well-educated native reader. [Data Code 40]

R-4+: Reading 4+ (Advanced Professional Proficiency, Plus)

Nearly native ability to read and understand extremely difficult or abstract prose, a
very wide variety of vocabulary, idioms, colloquialisms and slang. Strong sensitivity to
and understanding of sociolinguistic and cultural references. Little difficulty in reading
less than fully legible handwriting. Broad ability to "read beyond the lines" (that is, to
understand the full ramifications of texts as they are situated in the wider cultural,
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political, or social environment) is nearly that of a well-read or well-educated native
reader. Accuracy is close to that of the well-educated native reader, but not equivalent.
[Data Code 46]

R-5: Reading 5 (Functionally Native Proficiency)

Reading proficiency is functionally equivalent to that of the well-educated native
reader. Can read extremely difficult and abstract prose; for example, general legal and
technical as well as highly colloquial writings. Able to read literary texts, typically
including contemporary avant-garde prose, poetry and theatrical writing. Can read
classical/archaic forms of literature with the same degree of facility as the well-
educated, but non-specialist native. Reads and understands a wide variety of
vocabulary and idioms, colloquialisms, slang, and pertinent cultural references. With
varying degrees of difficulty, can read all kinds of handwritten documents. Accuracy of
comprehension is equivalent to that of a well-educated native reader. [Data Code 50]
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